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Genral Instruction to the Examinees :
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IV.

wemeff FdvRH ST WA W A SifFaR: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
w1 g B Sifvard &

All the questions are compulsory.

YD Ye BT SR & T IeRyRadr § & ford |

Write the answer to each question in the given answer book only.

o wedt & ol wue 8, I @ SR TP drRF 8 fordd |

For questions having more than one part the answers to those parts are to be
written together in continuity.

U U & BT T 3RION BUR # {5 yeR @ Ffe / stk / fokmmara g9
TR &1 9197 & YeA BT & FE A |

Ifthere is any error/difference/contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

gue—3d
SECTION- A

(i) 12 3R 15 BT 9T AR 7EY T BFTT ?

(31) 60 3R 3 (@) 24 3R 6

(@) 12 3R 30 ® T ¥ P18 T8l 1
Find the LCM and HCF of 12 and 15 ?

(a) 60 and 3 (b)24 and 6

(c) 12 and 30 (d) None of these

(ii) 95IT H 3x° yax—2 LU ST WA BRA ?

(31) 1 @) 2

(®) o (@) ¥ & B &l 1
Numbers of zeroes in polynomial 3x2 4 4x — 2 is?

(a1 (b)2

()0 (d) None of these

(i) 91 forg & e B 8 7

@) (1,2) @ @D

@ LD (®) (0,0 1
The Coordinates of origin are ?

(@ (1,2 ®(, D

(© -1, (d (0,0

(iv) I 2x+y =6 B I HBT TG B Al JH § ?

@) (1,2) @ @1

@ 2.2 ® a0 1
Which pair is satisfy the lines equation 2x +y =6 ?

(a) (1,2) (OIeAY

(©) 2,2) (d @D

(v) THIBRYT 43?4 hx4+c=0 . az0 b oI dRdS & B Afs
@) b>-4ac<0 @ b>-dac>0

() b>-4dac=0 (@) 3 @1g el 1



In which condition the roots are not real in Quadratic equation

ax’+bx+c=0,a#0

(@) b*-4ac<0 (®) b*—4ac>0

(¢) b*—4ac=0 (d) None of these

(vi) TP FATR 3¢ 3, 7, 11, 15 @ fog wrderar 8rm ?
(@) 1 @ 2

() 3 (®) 4 1
The common difference forand AP. 3,7, 11,15 ............ will be

(a1 (b)2

(©)3 (d) 4

(vii) 2sin45° cos45° BT 7 BRI ?

) NG @) 2

(H) 1 ® o 1
The value of 25sin45° cos45° willbe ?

(2) % (b)2

(©1 (@ o

(viii) U gt @1 fopa W=t Y 81 weah 8 ?

@) () s

(@) = GISIGIE] 1
How many tangents can a circle have ?

(a) One (b) Infinite

(c) Three (d) Unknown

(ix) I BT &FF ST PR HT A 8 7

@ 2nr @ Tg5

@) (@) o7 ¥ P T 1

‘Which one of'the formula to find area of circle ?

2

nr
@) 2nr (b) ™
©) mr? (d) None ofthese

() I TH I B HAR 11 T T IHBT a4 IO EFBS 968 TP
g A1 9o @1 fsar Brl ?

@GN 10 T @) 11 T

(@) 12 30 (®) 14 30 1

Ifa height of a cylinder is 11 cm and its curved surface area is 968 cm?, then the

radies of cylinder will be ?

(a) 10cm (b) 11 cm

(©) 12em (d) 14 cm

(xi) §¢17,4,5,3,4,3,4,1,2 % Iga SM—

(@) 7 @) 4

(@) 3 @®) 2 1
Mode of'the distribution 7,4, 5,3, 4, 3,4, 1, 2is—

(a) 7 (b)y4

(©3 (d)2

(xii) UF UTH &I TP IR bl ST & | ST T I U R B
e 3—

1 2

®) 5 @ 3
@) o @) 1 1
A die is thrown once, then the probability of getting a prime number is—
@) = ® 2

2 3
(©) 0 d) 1
() 34245 T o e §7 (Ui / sraRe) 1
3425188 . number ? (Rational / Irrational)

[+ ]



(i) T G B ¥ ? (Wahme W/ gw) 1
Allcirclesare ............... (Congruent / Similar)

(i) tan30° tan60° BT AT .o BN ? 1
Value of tan 30° tan 60" is........... ?

(iv) I BT el Xl SR e & @ BT BT 1 8 7 (JA
BT/ AfeIB BT/ FHBIT) 1
Angle between a tangent and a radies of circleis ............. (Acute angle /
Obtuse angle /Right angle )

(v) TG STHST BT A T BT BT x= E7 1

Formule of finding mean of a grouped datais x —

(vi) TRt ST =/ & S19 bl Wfaehl ... IRy 1

The probability of an impossible event is................. .

(i) TR I R TR Sl T SAfgdia g S IR At 1
Find the condition of unique solution for pair of linear equation in two variables.
(ii) fEamd EHERT x> 4 bx +c=0 P A T BT BT A R A
oty ? 1
Write the Shree Dharacharya formula to find roots of quadratic equation

ax’ +bx+¢c=0-

(iii) R S 2,5, 8, 11 @ 12 YRS BT ANT I B 2 1
Find the sum of A.P.2,5,8, 11 ........... to (12® term)

(iv) <1 TR el @ Yomsll &1 U 4 ¢ 9 BT O 39 <M Sl @
EFhA] BT U S BITY | 1

Ifratio of sides of two similar triangles is 4 : 9, the find the ratio of areas of

these two triangles.
sec40’ sec50°
_seesU  seeoh 5
™ Cosec50” cosecao’ 1 T S L 1
) sec40”  sec50’
Find the value of cosec50” cosec40’ -
(vi) 9sec’0—9tan’Q BT AN HIA B ? 1

Find the value of 9sec’>6—9tan’0
(vii) T% §99 & HMR & BRI SHSH AR & IR 8T ol &, r
T BT AT BTG ? 1

At atime, the shadow of a tower is equal to height of tower. Find the angle of

elevation ?

(viii) &1 7S ARl H BT g BT WA TG B ? 1
C
10m

6
A 10/3m B
Find the value of angle ¢ in given figure ?
C
10m
[¢)
A 103 m B



(ix) AT G g P¥ O & arel fbdl gl WR PA, PB ¥Rl @Y IRER
80° & BT WX FH! BT AT LAQB PI AF AR FRT ? 1
Iftangent PA and PB from a point P to a circle with centre O are inclined

to each other at the angle of 80°. Then find ~AOB.

(x) 19 T T U YERITS WY 3R 89 2 ¢ 1 & orgura # fofoa
BHIGTY ? AT AN B AW forar | 1

Draw a line segment of a length 9 cm and divide into the ratio 2 : 1 mesure the

two parts.
(xi) 6 T 50T a0l U g & U BRUwTS FT &% $1d ST,
STHET BI0T 60° & ? 1

Find the area of a sector of'a circle with redius 6 cm, if angle of the sector is
60°.

(xii) TH FRT F 3 HAcHl, 2 BT 3R 4 A G F| §H I H Y TP I
Ao AT Ml o & a1 saal 71 wifiear & 6 et 72 e eh
g7 1

A box contains 3 blue, 2 white and 4 red ball. Ifa box is draw at random from

box, what is the probability that will be blue ball ?

Yrs—¢
SECTION-B

TT IRl 616 3R 32 &7 AW THUAd (HCF) Fd @ifoie | 2
Find the HCF of two numbers 616 and 32.

% fgud 9gue od S, 6 w4 dar 1§ 7 2
Find a guadratic polynomial, whose zeroes 4 and 1 ?
fEaTd TR 6y _x—0—0 ® GF T DI ? 2

Find a roots of guadratic equation gx> —x -2 =0 ?
famgall (1, —5) 8IR (4, 5) @I Sile dlel ERIVS DBl —3feT fobvi SrguTd
# fowfSrd ®=ar &, od S ? 2

10.

11.

12.

13.

14.

Find the ratio, in which x-axis divides the line segment joining the points (1, -5)
and (-4, 5). 2
9fH ¥ 60 m ! HE W TH TG I T T TG H ol SR BT ST w9
off % T forg & oy feam o 31 1t % e S R R 60° ] | T8 TR
F SR 8 1S T 71§, S TR 916 S 2

A kite is flying at a height of 60 m above the ground. The string attached to the
kite is temporarily tied to a point on the ground. The inclination of the string with
the ground is 60°. Find the length of the string, assuming that there is no slack in

the string,
6.7 I TS BT U NERATS Wb SUDT 2 ¢ 3 H ARG favror
PIfTg ? 2

Draw a line segment oflength 6.7 cm and divide it into 2 : 3 internally ?

5 T 5501 & U g WR U &1 el vE Eify, S RER & 60°
BT W FH 8| 2
Draw a pair of tangents to a circle of radius 5 cm, which are inclined to each
other at angle of 60° .

afE &1 Freit & &amhd a-TER 81 1 g SR 15 3 frgel garmad
B B 7 2
Ifthat area of two similar triangles are equal, prove that they are congrunt.

T B B e G R o 14 0 81 59 GE B BRT 5 e
H AT e SR BTG ? 2
The length of the minute hand ofa clock is 14 cm. Find the area swept by the
minute hand in 5 minutes ?

roar 4.2 ¥ a1el o1 & TH Tt BT NEER B5a1 6 ¥ Al Th
I B w H AT AT B | T B HAR T P ? 2

A metalic sphere of radius 4.2 cmis melted and recast into the shape of a
cylinder of radius 6 cm. Find the height of the cylinder ?

i 5.5cmx10cmx3.5¢cm ATl Yo BN S & {AQ 1.75 W0 =4
2 TATH AR atel o I @ gt &1 feemr wem ? 2
How many silver coins 1.75 cm is diameter and of thickness 2 mm, must be

melted to form a cuboid of dimensions 5.5¢cmx10¢cmx3.5¢m ?



15.

16.

17.

18.

19.

20.

9 IRWERAT e BT -G HT DIOTT ?
X 20 30 40 50 60 70 80

f 6 " 7 4 4 2 1

Find the mean of the following frequency distribution ?

X 20 30 40 50 60 70 80

6 " 7 4 4 2 1

VeI AR BSFaF o im @ 31 a8 da & %5 A #
S @1 WIfdedr 0.38 31 B & #9 Sias &1 @ wiRiedr 8 7 2
Two Players A and B play a tennis match. It is known that the probability of a
winning the maths is 0.38. What is the probability of B winning the match ?

Yre—

SECTION- C
AP 17,1513, % feret 7% ferg smd anfes SRt AT 81 817 3
How many terms of the AP. 1 17, 15,13,............. must be taken, so that their
sum is 817
g oY 5 fag (2, —2) . (2, 1) T2 (6, 2) T& FHGT B & o
g 3
Prove that the point (2, -2), (-2, 1) and (5, 2) are vertices of a right angled
triangle.
frfaRad wiffea sriwel & Bfeqd Ara I gRT AR 9@ HIfo] ?
ot 11—13|13—15|15—17 [17—19 | 19—21|21—23|23—25
YRFRAT 7 6 9 13 20 5 4 3

Find the mean of the following grouped data using the assumed mean method.

Class 11—13 |13—15 [156—17 | 17—19 | 19—21 |21—23|23—25
Frequency 7 6 9 13 20 5 4 3
g SR 5 el gt & fpdl oo & RaRi W il o et e
THRR BRI 87 3

(o]

21.

22.

Prove that the tangents drawn at the ends of a diameter of a circle are parallel.

grs—q
SECTION- D

ot YRaes THIeBRoT I BT smerdig faftr gRT st HIRT ?
2x+y=6; 2x-3y=2

3T
=1 WRaw wliexor g @1 sedi fafer gt 81 B ?
x+3y=6; 2x-3y=12
Solve the following pair of linear equations by graphical method :
2x+y=6; 2x-3y=2

Or
Solve the following pair of linear equations by graphical method :
x+3y=6; 2x-3y=12

g @ifog f
1Jrsan:secA-HanA
1—sin
3111
g Hifoiy fs
co§A +1+s1nA —2secA
1+sinA  cosA
Prove that
1+sin A
an =secA+tan A
1-sinA
Or
Prove that
cos A +1+smA —ogecA

I+sinA  cosA



23.

Frefafea arett feet sreqare § e favrm ot o Wl gu Afie ot omg =t
Tt §—

&g (=t ) 5-15 15-25 | 25-35 | 35-45 |45-55 |55-65

AfrE ) den 6 11 21 23 14 5

UG SRSl h SETh N I TG B | 4
3dT

Frefafea s e fRdt Tigeat o 68 Susigmsit sl fasel &f
ek T ST € | S B % e AR Sgeh W e |

Tk T (SohTEEl §) IS St T
65 -85 4

85-105 5

105 -125 13

125 - 145 20

145 -165 14

165 - 185 8

185 — 205 4
The following table shows the ages of the patients admitted in a hospital during a
year :
Age (inyears) 5-15 15-25 | 25-35 | 35-45 [45-55 |55-65
No. of Patients 6 11 21 23 14 5
Find the mode and the mean of the data given above.

Or
The following frequency distribution gives the monthly consumption of electricity

of 68 consumers of a locality. Find the median, and mode of the data.

Monthly Consumption Number of
(in units) Consumers
65 -85 4
85-105 5
105 -125 13
125145 20
145 - 165 14
165 - 185 8
185205 4




